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g import numpy as np
3 import matplotlib.pyplat as plt AT EAT ST FORTERIZAATESET
10 import scipy.interpolate EoEpnsE— i s | o mmsc hd
11 import matplotlib.ticker FETHAT0—5—
12
13 def partgraph(xl,yl,a,b,c): TPython %=L & X
14 startl = min(x1) e
15 endl = max(x1) O :IuJ /AR . | W4 lq
16 spl = scipy.interpolate.AkimalDInterpolator(xl, yl1) T T T ! L]
17 sxl = np.linspace(startl, endl, 18088) o0 o0 10.00 100.00
13 syl = spl(sxl)
19 In [37]: runfile('D:/Pythonsrc/graph2.py’, wdir="D:/Pythonsrc’)
28 ax = fig.add_subplot(a, b, c)
21 ax.set_xlim{startl, endl)
- 100 100
2 ax.set_xscale('Log')
23 ax.grid() 80 80
24 ax.plot(xl, y1, "bo™)
25 ax.plot(sxl, syl, "b") = &0
26 40 a0
27 ax.set_xticks([@.801, @.81, ©.1, 1,10,108])
28 ax.get_xaxis().set major_formatter(matplotlib.ticker.ScalarFormatter()) ey 20
29 0
T 0 T T T T
38
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33 xl=sorted([19,9.5,4.75,2,8.85,8.425,8.25,8.186,0.875,8.852,0.8369,0.0234,8.81: - 0
34 yl=sorted([100,98.9,98.4,96.5,93.7,81.5,49.8,6.9,5.7,5.3,4.8,3.9,3.3,2.9,2.5,]
35 x2=sorted([26.5,19,9.5,4.75,2,8.85,8.425,8.25,9.1086,2.875,8.8514,0.08366,8.023: &0 60
36 y2=sorted([128,88.5,85.1,77.8,67,54.7,44.2,33.5,18.8,16.1,13.6,12,18.1,8,6.9,° 20
37 ®3=sorted([26.5,19,9.5,4.75,2,0.85,0.425,0.25,0.106,8.0875]) 40
38 y3=sorted([100,99.6,71.4,58.2,46.3,35.1,24.4,15.3,8.3,7.2]) 20 20
39 x4=sorted([26.5,19,9.5,4.75,2,8.85,8.425,8.25,0.186,0.875,8.853,8.8376,8.8239, 0
40 y4=sorted([100,92.2,89.5,87.2,84.7,82,75.9,58.1,18.5,12.9,18.6,8.7,7.1,5.5,4.° T T T T T
41 x5=sorted([37.5,26.5,19,9.5,4.75,2,8.85,9.425,8.25,8.186,9.875] ) eoo oot 0.00 oot oo 100 1o.00 100.00
42 y5=sorted([108,99,81.7,58,41.8,29.9,21.3,15.6,12.3,8.5,7.5]) 100 100
43 x6=sorted([9.5,4.75,2,0.85,0.425,0.25,0.106,0.075,0.8524,0.0373,0.6233,0.0139, -
44 ye=sorted([100,99.2,98.6,93.2,79.1,70.4,63.7,61.8,58.9,55.2,49.1,42.1,37.4,32,
45 partgraph(x1,y1,3,2,1) )
46 partgraph(x2,y2,3,2,2)
47 partgraph(x3,y3,3,2,3) 40
45 partgraph(x4,y4,3,2,4) 0
49 partgraph(x5,y5,3,2,5) o 20
58 partgraph(x6,y6,3,2,6) T T T T T
51 0.00 0.01 0.00 001 0.10 100 10.00 100.00
52 fig.savefig("spB.png") v
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